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'B. Com. (Part-I) Examination, 2016
(Optional-B) Sixth Paper
(Business Mathematics)

Note :- Answer five question in all. Short answer type Question No. 1
carrying 40 marks is compulsory. Answer one question carrying
15 marks from each Unit.

1. FrafeRea g sodta weat & swR afse-
Answer the following short answer questions-

(i) X TAT y & AF FaRi A :

Find the value of x and y if :

Xx+8y4| |17 4
36| |3 dx+y

78
123 _ :
(i) afe A=LSSJ qer B=? 'g g dar AB
1112

Bl HH T DL

7 8

Ly
Ly bed

} and B :{9 10 then find the value of AB

!
o]
LA 1112

(ili) 3P A B Gabd T DI :
Find the inverse of the matrix A :

84

Azbz}

(iv) 4000 ¥ 0} 1% ay @I 10% @ R A dhdlg &NoT FId DI
STates &t Al dmale g

1
Find the compound interest on Rs. 4000 for 15' year @ 10%

compounded half yearly.
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(v) oSt &r-uRumr & ge 360 ToR IHase
" Define annuity and explain its-various types.
(vi) e Bl ¥ o g W E
What, do you understand t;y 'sinking fund'.-
(vii)  x B TET GBEHT DIoTE:

Differentiate with respect to x :
y =3x° +-S—,+log.e"
2
(viii) af& f = 3x+5xy+2y>

aZf
Ox oy

ar &1 WF o D)

If f = 3x2+5xy+2y°%, ﬁnd'ﬁ*a);%
(ix) 3Nes sdsul & 3tedl O are il
| Explain the objectives of linear programming.
(x) O S WA et fofee
Write a short note on transportation problem.
Unit-1 (3®F-924)

2. B IR S A o on & for g A 62 W sl
2 1 -1 1 3 '
4-5 6| |4-6 [5 3}
3 7 3| |2 5| L2}

When two matrices aré coriformable for addition and multiplication?
Simplify : '

2 1 -1 13
4-5 6| |4-6| |°3

21 Or
3 73| |25
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. et whiaRer oo @ & anegE o @ s S

Solve the following system of equations by matrix method :

2X-y+3z =9
3x+3y-2z =3
-x+4y+z = 10

Unit-II (3&73-fghia)

-S%H'%ﬁmma?rﬂﬁmaﬁﬁiﬁmOﬁﬁmﬁﬁﬂ

fisre, e o vd =0 9 Sl

Find the amount, present value and interest of an annuity of Rs. 200 for
12 years, the rate of compound interest is 3% per annum. Or

. B W HOT, W01 O B R e &2 3 s @ X ¥ T e

n%mgﬂ%aﬁwm%mamﬁa&wmw@vﬁm%
(1.0025) = 1.0304

Which is better loan for the ioaner? 3% per annum compounded monthly
or 3.1% per annum simple interest. Given (1.0025)"? = 1.0304.

Unit-1ll (TE-geiia)

,ﬁm%ﬁaawﬁ-aﬁmamwmwml

Find the maximum and minimum value of the function given below :

y = 2x*-x? Or
2
X" —4x+5 _ _
W Y=z , X-3187 T x =2 P4 x = 3 W Pifed ¥ /R &7
@1 &FBA ST DI
_ x? —4x+5
Find the area bounded by the curve ¥ = 2 , X axis and the

ordinates at x = 2 and x =

2.
Unit-1V (3573-ag2f)

. FefaRea New srIET &1 uifss & s Sifswl

Solve the following linear programming problem by gi*aphical method:
Minimize z = -3x + 4y
Subject-to :

X +2y <8 3x+2y <12, x>0, v>,0 Or
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9. 1 W ifdra fwolt fafae -

Write short notes on the following :

(a) HETYT G &

Basic feasible solution
(b) Ftas fafér

Simplex method

(c) &
Duality
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